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Quest ion  (1  )

j";jt:ut" of a cvliad"urilal grlnding machlne has the forlobzrng

- Front bearing st i f fness
- Rear bearing stiffness
i Over hanged . length
- Mean splndle d^lameter

Evaluate I-  -op t .

( ?6 Marks )

Question ( Z )

er'.r, 'i#*-a: '*' - f.|ltq;GFb=

and Co .

..::.,.ffiffip,

If / Fm.
N / /r:a.
lmo.

Ilull .

= 300
= 150
=49
=70

a lathe has two frat cast-iron slideway of equal wld.th andheight of half the width . wrilir.e turning a 150 nm. diameterworkpiece, the tengential , rad^Le1 s axial components of theeutt'ng f orces were f ound to be g30 , 250 ; 166 Ko respectively.The lathe carrlage weighs 180 Kp and is eoo un: ;L*.Design the sl ideway assumiag any-required deta. cast- ironslldeways can withstand a max. pres*uge , .o! ,o i^i 
"*2.coas ider  that  K"  (  t tu ln .  1  = 50 Kr /  r , * ;W= 22 

"*  
d 'o  = 1g cr ! .

L19 r{arks )

MN{OIIAUNII'B$Tr

Good luck  ! ! !
Dr. : Gaber M. SHEHA .



Qs (25 Ma.rks): -' . *ffil"ff;ffi: *:# #ffiffim"m*, ro drive a
I: of the 

:"*i* our speeds :Zx 6: tf *puuO. Max. speed carried out from the gearbox : 1200 r.p.m._ ts 1.26
Find:

The kinematic diagram for the best arrangement.
choose the best probability and construct the speed chart.
Calculate the actual speeds.
Design the gears of the first stage

Qa (25 Marks):

$ 
a qrning operation the cutting conditions were:

Max. K, : I 5X 104 lb/inz
S : 0.06 in /rev.
V : 800 ff/min.

i '

a:0.025 in
d:4 in
Req.
V, T, Pr, and N
If:
Pz :  0.2 Pr and p: :0.4 pr
Assuming a suitable data for turning machine dimensions>Find the forces and moments distridution on,rr* r*d of the machine.


